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For the circuit as shown in the following figure, the switch S; has been closed for a long time before it

is opened at t = 0 and the switch Sy has been opened for a long time before it is closed at t = 0. Find
vc(0*) and ic(0%).
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Solutions:

Because the switch Sz has been closed for a long time before t = 0, the capacitor can be regarded as
opened terminal, the equivalent circuit is
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Ve (0) =V, (07) = 3mA x 2kQ = 6V



After the switch Sy is closed at t = 0,and switch S; is opened, the equivalent circuit is
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i.(07) =4-2=2mA

ve(0*) = 6V  ic(0") = 2mA




